N RNA
PLAYGROUNDS

designed for sustainable and creative play

0301-003-002

27-04-2021 / Rev.: B



0301-003-002

342 (1740)
3220 L
- I
MAO(cnrﬁ\\
- o
N
o <
o N
o ~
N i
« d h] AT — / MAX kg B?///
{ 2 IH FI o
(o] o N~
N~ <
N
L o
[ 3 i S
(1740)
o
B
1500 ﬁ il Th 8
/Q/u wééé %

6250
2 4,5h 20n? 6,3x3,3x2,5m ~183 kg ~0,07m° 20x330cm 80kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Braedstrup * Phone +45 7575 4199 « mail@norna-playgrounds * norna-playgrounds.com Y,

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



0301-003-002

SR00046

AN

511880

SR00052 \

D11101

e

D11122

Parts List
QTY PART NO DESCRIP.
1 D11101 318-20x326 cm, assembled
1 D11122 @160x2950 mm
1 S11880 @250/45 mm
1 SR00046 60,3 Tube
1 SR00052 @80x140 cm




0301-003-002

(1/50)

ﬁ;:
[—) 0 o
2| o M o
33 NI
NS #19E N
(1/40)
v
AN
©
1625 3000 1625
E{ Wo'A

1625




0301-003-002

511880

LE16054

LE16063 LE16152

LE16056

LE15252

LE16021

S$12056
LE16556

LE16062

LE15910
LE15901

LE16021

Parts List

QTY PART NO DESCRIP. LE16056
1 S11880 @250/45 mm ~— 1 | —
1 LE16063 M10x90 mm S12056
4 LE16056 M12 cap nut
4 LE16062 M1oxt4mm
1 |LE16556 | @42/38mm ol L
1 LE15252 M16x200 mm I \g‘
1 LE16152 M16 - @30 mm
4 LE16021 M12x110 mm | [ ;‘7
1 |LE16054  |M10 cap nut 4 N GRNA 100g
2 LE15901 3x16, PH I o} (LE16604)
1 LE15910 Name tag Lubricating paste
2 S12056 70x150 (80) |




